| Efficiency vs Dxy |

)
X

35 - 5 5 5 :

@ 0.18[ oo

< : : : : : :

] I e Tl s

o - : :

§0.14— """ """ HIN B H . """" o
0.12

=
(5]

Joainc|

0.2

o
=

M

ol

; i 41

i "‘u ‘w
| hi ru..;.amllili

ﬂ
HHH

—20 -15 -10 10 15 20
TP dxy (cm)

&

1.—"-"!"-- r-rinn—--r-

—=— DQM_original_stepZ_tibar-phasel-newgeom

—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

| Efficiency vs Dz | —«— DOQM_pixelCPETemplateCutChiSquare5_step2_tthar-phasel-newgeom

N
®)
0
>
>
o
c
D

£
[

Ratio

o L : : : : :
_014__ """"" """""" """""" """""" """"" :

0.2 —+— DQM_pixelCPETemplateCutChiSquare5Test_step2_tthar-phasel-newgeom

T e
N

042

1T TN S e —
0B

SIS BN RN SRS S 8 W
004 | ----------- ----------- -------
0.02:-- : : :
O:
1

0.9

0.8

20 30
TP dz (cm)



	Contents
	Page 1


